
MPSC - amÁ¶godm nyd© narjm … 2018 nyd© narjm nona-1 / 1

1) Imbrbn¡H$s H$moUVr WoarO qH$dm {gÕm§V OrdZ CËH«$m§Vrer g§~§{YV AmhoV?
A) Z¡g{J©H$ {ZdS>rMm {gÕm§V ~) CËn[adV©Z CËH«$m§VrMm {gÕm§V
H$) dmagm dU© JwUY‘© {gÕm§V S>) {d¶moJ {gÕm§V
n¶m©¶r CÎmao …
1) A, ~ Am{U S> 2) A, ~ Am{U H$ 3) A, H$ Am{U S> 4) darb gd©

1) Which of the following theories are related to evolution of life?

a) The theory of natural selection b) Mutation theory of evolution

c) Theory of inheritance of evolution d) Theory of segregation

Answer Options :

1) a, b and d 2) a, b and c 3) a, c and d 4) All of the above

2) Imbrbn¡H$s H$moUVr 'g§àoaHo$' {nQy>Q>ar J«§VrMr AmhoV?
A) Q>r.Eg.EM. ~) Eg.Q>r.EM. H$) EM.gr.Or. S>) E.S>r.EM.
n¶m©¶r CÎmao …
1) A Am{U ~ 2) ~ Am{U H$ 3) A, ~ Am{U S> 4) A, ~ Am{U H$

2) Which of the following are hormones of the pituitary gland?

a) TSH b) STH c) HCG 4) ADH

Answer Options :

1) a and b 2) b and c 3) a, b and d 4) a, b and c

3) ApñWg§ñWm hr Imbrbn¡H$s H$moUVo H$m¶© H$aVo?
A) g§ajU ~) aº$moËnmXZ / é{YaOZZ  H$) hmbMmb gwb^Vm
S>) jmamMo g§dY©Z/gmR>m
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) ~, H$ Am{U S> 3) A, H$ Am{U S> 4) darb gd©

3) The skeletal system performs which of the following functions?

a) Protection b) Hematopoiesis c) Movement facilitation    d) Mineral storage

Answer Options :

1) a, b and c 2) b, c and d 3) a, c and d 4) All of the above

4) {J«JmoS> ‘|S>b ¶m§Zm OZwH$emómMo OZH$ Ago g§~moYbo OmVo, H$maU Ë¶m§Zr àW‘ AZwd§{eH$VoMm {gÕm§V ‘m§S>bm. Ë¶m§Mo
à¶moJemioVrb g§emoYZ gm‘J«r H$moUVr hmoVr?
1) ’«w$Q> âbm¶ (’$i ‘mer) 2) ~«oS> ‘moëS> (~waer)
3) dQ>mÊ¶mMo PmS> 4) aogwg ‘mH$S>

4) Gregor Mendel is often referred to as the Father of Genetics, since he first enunciated the

principles of heredity. His experimental material was

1) Fruit fly 2) Bread mould 3) Pea plant 4) Rhesus monkey
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5) 'M' ho ‘ybÐì¶ S>mo~o[aZa {ÌH$Ho$ ‘Ü¶o Ca, M Am{U Ba ho ...... Amho.
1) Be 2) Mg 3) Sr 4) I

5) The element M in the Dobereiner triad Ca, M and Ba is

1) Be 2) Mg 3) Sr 4) I

6) H$mð>OÝ¶ AëH$mohmob åhUOoM -
1) {‘WoZm°b 2) BWoZm°b
3) ~oqPb AëH$mohmob 4) Am¶gmoàmo{àb AëH$mohmob

6) Wood grain alcohol is nothing but

1) Methanol 2) Ethanol 3) Benzyl alcohol 4) Isopropyl alcohol

7) nmÊ¶mV ³bmoarZ Zoh‘r {‘giVmV H$maU -
1) Am°p³gOZMo à‘mU dmT>Vo 2) O§VyZm ‘maUo
3) Jmi H$mT>Ê¶mgmR>r 4) Z {daKiUmar AewÕVm KmbdÊ¶mgmR>r

7) Water is often treated with chlorine to

1) Increase oxygen content 2) Kill germs

3) Remove sedimentation 4) Remove insoluble impurities

8) ...... ¶m‘wio J§OÊ¶mMr {H«$¶m hmoVo.
1) ’$º$ ^m¡{VH$ A{^{H«$¶m 2) ’$º$ amgm¶{ZH$ A{^{H«$¶m
3) XmoÝhr (1) d (2) 4) H$moUVrhr Zmhr

8) Corrosion takes place as a result of

1) Only physical reactions 2) Only chemical reactions

3) Both (1) and (2) 4) None of the above

9) Z¡g{J©H$ dm¶y‘Ü¶o ...... Mo à‘mU ‘w»¶Ëdo H$ê$Z AgVo.
1) ã¶wQ>oZ 2) àmonoZ 3) {‘WoZ 4) BWoZ

9) Natural gas mainly consistes of

1) Butane 2) Propane 3) Methane 4) Ethane

10) Z¡g{J©H$ òmoVmVrb H$moUË¶m KQ>H$mnmgyZ Ma~r Am{U Vob {‘iVo?
1) H$m~m}XHo$ 2) {b{nS>   3) à{WZ 4) Q>{n©Z

10) Fats and oils belong to the naturally occurring group of compounds called

1) Carbohydrates 2) Lipids 3) Proteins 4) Terpenes

11) ^maVr¶ amÁ¶KQ>ZoÀ¶m Imbrbn¡H$s H$moUË¶m VaVwXr 26 Zmoìh|~a 1949 amoOr bmJy Pmë¶m?
A) ZmJ[aH$Ëd ~) {ZdS>UwH$m (H$b‘-324)   H$) VmËnwaVr g§gX S>) ‘yb ŷV A{YH$ma
n¶m©¶r CÎmao -
1) A, ~ Am{U H$ 2) ~, H$ Am{U S> 3) A Am{U H$ 4) A Am{U ~

11) On 26th November, 1949, which of the following provisions of the Constitution of India came

into effect?

a) Citizenship b) Elections (Article-324)

c) Provisional Praliament d) Fundamental Rights

Answer Options :

1) a, b and c 2) b, c and d 3) a and c 4) a and b
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12) Imbrbn¡H$s H$moUË¶m àH$aUmV ^maVmÀ¶m gdm}ƒ Ý¶m¶mb¶mZo amÁ¶KQ>ZoÀ¶m ‘yb ŷV g§aMZoV g§gXobm ~Xb H$aVm
¶oUma Zmhr Agm {ZU©¶ {Xbm?
1) e§H$ar àgmX {déÕ ^maV gaH$ma 2) JmobH$ZmW {déÕ n§Om~ amÁ¶
3) Ho$edmZ§X ^maVr {déÕ Ho$ai amÁ¶ 4) {‘Zìhm© {‘ëg {b. {déÕ ^maV gaH$ma

12) In which of the following cases did the Supreme Court of India pronounce the verdict that the

basic structure of the Constitution cannt be amended by the Parliament?

1) Shankari Prasad vs Union of India 2) Golaknath vs State of Punjab

3) Kesavananda Bharti vs State of Kerala 4) Minerva Mills Ltd. vs Union of India

13) ^maVmÀ¶m Cnamï´>nVr~m~V Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
A) ¶m nXmgmR>r Agboë¶m {Zdm©MZ ‘§S>im‘Ü¶o g§gXoÀ¶m XmoÝhr g^mJ¥hm§À¶m {Zdm©{MV gXñ¶m§Mm g‘mdoe AgVmo.
~) Vo amï´>nVrÀ¶m AZwnpñWVr‘Ü¶o ghm ‘{hÝ¶mnojm OmñV H$mi Zmhr BV³¶m H$mbmdYrgmR>r amï´>nVr nXmda amhÿ

eH$VmV.
H$) ¶m nXmÀ¶m {ZdS>UwH$sgmR>r {H$‘mZ 20 ‘VXma ho àñVmdH$ Am{U 20 ‘VXma ho AZw‘moXH$ AgUo Amdí¶H$ AgVo.
1) A 2) ~ 3) H$ 4) ¶mn¡H$s EH$hr Zmhr

13)  Which one of the following statements about the Vice-President of Inida is incorrect ?

a) The electoral college for election to this office consists of the elected members of both the

Houses of Parliament.

b) He can hold the office of the President for a period not exceeding six months in the absence

of the President.

c) For election to this office a candidate's nomination paper must be subscribed by at least 20

electors as proposers and 20 electors as seconders.

1) a 2) b  3) c 4) None of the above

14) Imbrb {dYmZo {dMmamV ¿¶m …
A) {d^mJr¶ n[afXm ¶m KQ>ZmË‘H$ g§ñWm AmhoV.
~) n§VàYmZ ho gd© {d^mJr¶ n[afXm§Mo AÜ¶j åhUyZ H$m¶© H$aVmV.
H$) àË¶oH$ ‘w»¶‘§Ìr hm AmirnmirZo {d^mJr¶ n[afXoMm CnmÜ¶j åhUyZ H$m¶© H$aVamo.
S>) XmoZ qH$dm A{YH$ {d^mJr¶ n[afXm§À¶m g§¶wº$ ~¡R>H$s¨Mo AÜ¶jñWmZ H|$Ðr¶ J¥h‘§Ìr ŷf{dVmo.
1) {dYmZo A, ~ Am{U H$ ~amo~a 2) {dYmZo ~, H$ Am{U S> ~amo~a
3) {dYmZo A, H$ Am{U S> ~amo~a 4) {dYmZo H$ Am{U S> ~amo~a

14) Consider the following statements :

a) Zonal Councils are the constitutional bodies.

b) The Prime Minister acts as the Chairman of all Zonal Councils.

c) Each chief Minister acts as the Vice-Chairman of the Zonal Council by rotation.

d) Joint meetings of two or more Zonal Councils are presided over by the Union Home Minister.

1) Statements a, b and c are correct 2) Statements b, c and d are correct

3) Statements a, c and d are correct 4) Statements c and d are correct

15) ñWm{ZH$ emgZmdarb Xþgè¶m àemgH$s¶ gwYmaUm Am¶moJmÀ¶m ghmì¶m AhdmbmVrb {e’$maer ...... AmhoV.
A) EH$ Xebj bmoH$g§»¶onojm A{YH$ bmoH$g§»¶m Agboë¶m gd© eham§‘Ü¶o g‘mZ ‘hmZJar¶ dmhVyH$ àm{YH$aU

{Z‘m©U H$aÊ¶mV ¶mdo.
~) ñWm{ZH$ g§ñWm bmoH$nmb-bmoH$m¶wº$ ñWmnZ H$amdoV.
H$) ‘hmnm¡am§Mr gai {ZdS>
S>) {Oëhm ‘§S>io ñWmnZ H$amdrV Am{U Ë¶m§Mo ‘w»¶ g{Md åhUyZ {Oëhm{YH$mè¶m§Zr H$m¶© H$amdo.
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n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) ~, H$ Am{U S> 3) A, H$ Am{U S> 4) A, ~, H$ Am{U S>

15) Recommendations of the Sixth Report of Second Administrative Reforms Commission on Local

Government are

a) Set up unified metropolitan transport authority in all cities of one million puls population.

b) Constitute a local body ombudsman.

c) Set up District Councils and the Collector would work as the Chief Secretary.

Answer Options :

1) a, b and c 2) b, c and d 3) a, c and d 4) a, b, c and d

16) Imbrbn¡H$s H$moUVr ‘mJ©Xe©H$ VÎdo hr ‘yi amÁ¶KQ>ZoMm ̂ mJ ZìhVr, na§Vw Ë¶m§Mm g‘mdoe Z§Va KQ>ZmXþéñVrÛmao Pmbm?
A) CËnÞmVrb {df‘Vm H$‘r H$aUo.
~)  n¶m©daUmMo g§ajU d g§dY©Z Am{U dZo d dÝ¶ Ordg¥ï>rMo ajU H$aUo.
H$) g‘mZ H$m‘m§~Ôb ór nwéfm§Zm g‘mZ doVZ
S>) g‘mZ Ý¶m¶mMr emídVr Am{U Jar~m§Zm ‘mo’$V H$m¶Xo{df¶H$ ghmæ¶.
B)  gd© ZmJ[aH$m§Zm CnOr{dHo$Mr nwaoer gmYZo gwa{jV H$aUo.
1) A, ~ Am{U H$ 2) ~, H$ Am{U S> 3) H$, S> Am{U B 4) A, ~ Am{U S>

16) Which of the following Directive Principles did not form part of the original Constitution and

were added through constitutional amendments?

a) To minimise inequality in income.

b) To protect and improve the environment and to safeguard forests and wildlife.

c) Equal pay for equal work for both men and women.

d) To ensure equal justice and free legal aid to the poor.

e) To secure adequate means of livelihood for all citizens.

1) a, b and c 2) b, c and d 3) c, d and e 4) a, b and d

17) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) g§gX H$a dmT>dy eH$Vo. ~) g§gX H$a H$‘r H$ê$ eH$V Zmhr.
H$) g§gX H$a aÔ H$ê$ eH$Vo. S>) g§gX H$a dmT>dy eH$V Zmhr.
B) g§gX H$a H$‘r H$ê$ eH$Vo.
1) A, H$ Am{U B 2) ~, H$ Am{U S> 3) H$, S> Am{U B 4) H$ Am{U S>

17) Which of the following statements are correct?

a) Parliament can increase a tax. b) Parliament cannot reduce a tax.

c) Parliament can abolish a tax. d) Parliament cannot increase a tax.

e) Parliament can reduce a tax.

1) a, c and e 2) b, c and d 3) c, d and e 4) c and d

18) eyÝ¶ àhamÀ¶m g§X^m©V Imbrbn¡H$s H$moUVr {dYmZo AMyH$ AmhoV?
A) g§gXr¶ H$m¶©nÕVr‘Ü¶o eyÝ¶ àha hr Zm{dÝ¶nyU© g§H$ënZm ^maVm‘Ü¶o CX¶mg Ambr.
~) àíZmoÎmamMm Vmg Am{U g^mJ¥hmMo H$m‘H$mO ¶m§À¶m ‘Yë¶m H$mimbm eyÝ¶ àha åhUVmV.
H$) hr g§H$ënZm 1962 nmgyZ àË¶jmV Ambr.
S>) eyÝ¶ àha ho g§gX gXñ¶m§Zm CnbãY Agbobo AZm¡nMm[aH$ ñdê$nmMo ‘mÜ¶‘ Amho.
1) A, ~ Am{U H$ 2) A, H$ Am{U S 3) ~ Am{U H$ 4) darb gd©
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18) Which of the following statements regarding Zero Hour are correct?

a) Zero Hour is an Indian innovation in the field of Parliamentary Procedure.

b) The time gap between the question hour and the agenda of house is known as Zero Hour.

c) This device has been in existence since 1962

d) It is an informal device available to the members of the Parliament.

1) a, b and c 2) a, c and d 3) b and c 4) All of the above

19) Imbrb {dYmZo bjmV ¿¶m …
A) amÁ¶KQ>ZoÀ¶m Zdì¶m {d^mJmVrb VaVwXr ¶m nmMì¶m n[a{eï>mV g‘mdoe Agboë¶m joÌm§g bmJy ZmhrV.
~) nmMì¶m n[a{eï>m§V g‘m{dï> AgUmè¶m joÌmV gmV amÁ¶m§Mm g‘mdoe hmoVmo.
H$) 1996 ‘Ü¶o g§gXoZo Aem joÌm§gmR>r PESA H$m¶Xm ‘§Oya Ho$bm.
darbn¡H$s H$moUVo {dYmZ/{dYmZo AMyH$ AmhoV?
1) A Am{U ~ 2) A Am{U H$ 3) ’$º$ A 4) darb gd©

19) Consider the following statements :

a) The provisions of Part IX of the Constitution relating to the Panchayats are not applicable to

the Fifth Schedule Areas.

b) At present seven states have Fifth Schedule Areas.

c) The Parliament has enacted the PESA Act in 1996 for such areas.

Which of the above statements is/are correct?

1) a and b 2) a and c 3) Only a 4) All of the above

20) amÁ¶KZoÀ¶m H$moUË¶m H$b‘m‘Ü¶o qhXr ̂ mfoMm àgma dmT>dUo, Vr ̂ maVmÀ¶m g§{‘l g§ñH¥$VrÀ¶m gd© KQ>H$m§Zm A{^ì¶º$sMo
‘mÜ¶‘ åhUyZ Cn¶moJmbm ¶oB©b Aem[aVrZo {VMm {dH$mg H$aÊ¶mMr O~m~Xmar H|$Ð emgZmg {Xbr Amho?
1) H$b‘ 343 2) H$b‘ 348 3) H$b‘ 350 4) H$b‘ 351

20) Which Article of the Constitution provides that it shall be the duty of the Union to promote the

spread of the Hindi language, to develop it so that it may become the 'Lingua Franca' of the

composite culture of Inida?

1) Article 343 2) Article 348 3) Article 350 4) Article 351

21) ^maVr¶ amÁ¶KQ>ZoÀ¶m Xþgè¶m n[a{eï>m‘Ü¶o H$mhr nXm{YH$mè¶m§Mo ‘mZYZ, ^Îmm, {deofm{YH$ma Am{U BVa ~m~r ¶m§Mm
g‘mdoe Amho. Imbrbn¡H$s H$moUVm nXm{YH$mar ¶mV g‘m{dï> Zmhr?
1) {dYmZg ôMo Cng^mnVr 2) {dYmZn[afXoMo CnmÜ¶j
3) ^maVmMm ‘hm{Ydº$m 4) ^maVmMo {Z¶§ÌH$ d ‘hmboImnarjH$

21) The Second Schedule of the Indian Constitution mentions salary, allowances and other privileges

of certain officials. Which one of the following is not amongst those officials?

1) The Deputy Speaker of Legislative Assembly

2) The Deputy Chairman of Legislative Council

3) The Attorney General of India

4) The Comptroller and Auditor General of India

22) Imbrbn¡H$s H$moUVo {dYmZ/{dYmZo ~am~oa AmhoV?
A) bmoH$g ôbm Zìho Va ’$º$ amÁ¶g ôVM Zm‘{ZX}{eV g^mgX AgVmV.
~) amÁ¶g ôda A±½bmo B§{S>¶Z ¶m O‘mVrMo XmoZ g^mgX Zo‘Ê¶mMr KQ>ZmË‘H$ VaVyX Amho.
H$) {H$Vr Zm‘{ZX}{eV g^mgXm§Zm H|$Ðr¶ ‘§Ìr ~Zdmdo ¶m~m~V amÁ¶KQ>ZoMo H$moUVohr ~§YZ Zmhr.
S>) Zm‘{ZX}{eV g^mgX amï´>nVr Am{U Cnamï´>nVr Aem XmoÝhr {ZdS>UwH$sV ‘VXmZ H$ê$ eH$VmV.
1) A Am{U ~ 2) H$ Am{U S> 3) ’$º$ ~ 4) ’$º$ H$
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22) Wich of the following statements is/are correct?

a) Only the Rajya Sabha and not Lok Sabha can have nominated members.

b) There is a constitutional provision for nominating two members belonging to the Anglo-Indian

Community to the Rajya Sabha.

c) There is no constitutional bar for nominated members to be appointed as Union Ministers.

d) A nominated member can vote both in Presidential and Vice-Presidential elections.

1) a and b 2) c and d 3) Only b 4) Only c

23) ¶mo½¶ H$WZ/H$WZo AmoiIm …
A) H$mohr bmoH$emhrdmXr Xoe ho àOmgÎmmH$ AmhoV.
~) H$mhr bmoH$emhrdmXr Xoe ho àOmgÎmmH$ ZmhrV.
n¶m©¶r CÎmao -
1) ’$º$ A 2) ’$º$ ~ 3) A Am{U ~ XmoÝhrhr 4) A Am{U ~ XmoÝhrhr Zmhr

23) Select the correct statement/s.

a) Some democratic countries are republics.

b) Some democratic countries are not republics.

Answer Options :

1) Only a 2) Obly b 3) Both a and b 4) Neither a nor b

24) ¶mo½¶ H$WZ/H$WZo AmoiIm …
A) ZmJ[aH$ amÁ¶m‘Ü¶o gd© ZmJar A{YH$mam§Mm Cn^moJ KoVmV.
~) ZmJ[aH$ amÁ¶m‘Ü¶o gd© amOH$s¶ A{YH$mam§Mm Cn^moJ KoVmV.
H$) naH$s¶ ì¶º$s amÁ¶m‘Ü¶o gd© ZmJar A{YH$mam§Mm Cn^moJ KoVmV.
S>) naH$s¶ ì¶º$s amÁ¶m‘Ü¶o gd© amOH$s¶ A{YH$mam§Mm Cn^moJ KoVmV.
n¶m©¶r CÎmao -
1) ’$º$ A, ~ Am{U H$ 2) ’$º$ A, ~ Am{U S> 3) ’$º$ A Am{U ~ 4) ’$º$ A, H$ Am{U S>

24) Select the correct statements/s

a) A citizen enjoys all the civil rights in the State.

b) A citizen enjoys all the polictical rights in the State.

c) An alien enjoys all the civil rights in the State.

d) An alien enjoys all the political rights in the State

Answer Options :

1) Only a, b and c 2) Only a, b and d 3) Only a and b 4) Only a, c and d

25) ¶mo½¶ H«$‘mZwgma bmdm (amÁ¶m§Mr {Z{‘©Vr) …
A) {‘Pmoa‘ ~) ZmJmb±S> 3) ‘oKmb¶ 4) ‘hmamï´>
n¶m©¶r CÎmao …
1) A, S>, ~, H$ 2) S>, ~, H$, A 3) H$, S>, ~, A 4) S>, ~, A, H$

25) Arrange in appropriate order (formation of the States) :

a) Mizoram b) Nagaland c) Meghalaya d) Maharashtra

Answer Options :

1) a, d, b, c 2) d, b, c, a 3) c, d, b, a 4) d, b, a, c
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26) Cƒ {ejU joÌmVrb {Z¶§ÌH$ ¶§ÌUo g§~§Yr nwT>rbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
1) 2005 gmbÀ¶m g¡‘ {nÌmoXm ¶m§À¶m ZoV¥ËdmImbr amï´>r¶ kmZ Am¶moJmZo Cƒ {ejU g§ñWm§gmR>r ñdV§Ì {Z¶m‘H$

¶§ÌUoMr {e’$mag Ho$br hmoVr.
2) ¶enmb g{‘VrZo hr Cƒ {ejU g§ñWm§À¶m {¶‘ZmgmR>r ñdV§Ì {Z¶m‘H$ ¶§ÌUoMr {e’$mag Ho$br hmoVr.
3) gÜ¶mÀ¶m Cƒ {ejU joÌmVrb {Z¶m‘H$ ¶§ÌUoEodOr EH$M {Z¶m‘H$ ¶§ÌUm Cƒ {ejU joÌmV H|$Ð emgZmZo àñVm{dV

Ho$br Amho. Vr ¶§ÌUm åhUOo Cƒ {ejU gj‘rH$aU {Z¶m‘H$ ¶§ÌUm (HEERA).
4) gÜ¶mÀ¶m H$mimV Cƒ {ejU joÌmV {dÚmnrR> AZwXmZ Am¶moJ (UGC) ho EH$‘od ApñVËdmV Agbobr {Z¶m‘H$

¶§ÌUm Amho.
26) Out of the following statements about the regulatory body in the field of higher education, which

is not corect?

1) National Knowledge commission under the leadership of Sam pitroda in 2005 had proposed

independent regulatory authority for higher education institutions.

2) Yashpal Committee recommended single independent regulating authority for higher education

institutions.

3) Central Government has proposed to replace present regulatory bodies in the field of higher

education with a single regulatory body called Higher Education Empowerment Regulation

Agency (HEERA).

4) University Grants Commission (UGC) is the only existing regulatory body in higher education

at present.

27) nwT>rbn¡H$s ¶mo½¶ {dYmZ/Zo {ZdS>m …
A) ^maVm‘Ü¶o àË¶oH$s EH$ hOma bmoH$g§»¶o‘mJo EH$ nojm H$‘r S>m°³Q>a CnbãY Amho.
~) OmJ{VH$ Amamo½¶ g§KQ>ZoZwgma S>m°³Q>a Am{U bmoH$g§»¶oMo {H$‘mZ à‘mU 3 … 1000 (1000 bmoH$m§gmR>r 3 S>m°³Q>a)

Ago Agmdo.
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ ~ 3) A Am{U ~ XmoÝhr 4) A Am{U ~ XmoÝhrhr Zmhr

27) Choose the correct statement/s from the following:

a) India has less than one doctor per thousand population.

b) The World Heath Organisation Prescribes a minimum doctor - population ratio of 3 : 1000. (3

doctors for 1000 people)

Answer Options :

1) Only a 2) Only b 3) Both a and b 4) Neither a nor b

28) ^maVmÀ¶m naamï´> YmoaUm§n¡H$s 'nyd©bjr H¥$Vr YmoaUm' g§~§Yr {dYmZm§n¡H$s H$moUVo {dYmZ MwH$sMo  Amho?
1) ho YmoaU ^maVmÀ¶m {dñVmarV eoOmar Xoe åhUOoM Am{e¶m-n°{g{’$H$ àXoemda ^a XoVo.
2) ho YmoaU ‘wimV Am{W©H$ nwT>mH$ma åhUyZ AmIÊ¶mV Ambo.
3) ¶m YmoaUmZo Am{e¶m-n°{g{’$H$ àXoemer B©emÝ¶ àm§VmVyZ gwYmarV g§nH$m©Mm nwañH$ma Ho$bm Amho.
4) ¶m YmoaUmZo H¥$Vrerb amOZ¶mMm nwañH$ma H$aV Am{e¶m-n°{g{’$H$ Am{U ^maVr¶ gmJar àXoemVrb KwgImobrbm

Amim KmbÊ¶mgmR>r amOH$s¶ Am{U bîH$ar hñVjonmMmhr nwañH$ma Ho$bm Amho.
28) Which of the following statements is incorrect about India's 'Act East Policy'.

1) This policy focuses on the extended neighbourhood in Asia-Pacific region.

2) This policy was originally conceived as an economic initiative.

3) This policy promotes enhanced connectivity to Asia-Pacific region through North-Eastern Region.

4) This policy promotes proactive diplomacy with political and military intervention to curb

insurgency in the Asia-Pacific and Indian Ocean Region.
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29) 'kmZnrR>' nwañH$mam~m~V Imbrb {dYmZo {dMmamV ¿¶m …
A) hm nwañH$ma ^maV gaH$ma Ûmam 1952 nmgyZ àm¶mo{OH$ Amho.
~) 1982 À¶m AJmoXa boIH$mÀ¶m EH$m H¥$Vr~Ôb {Xbm OmV hmoVm.
H$) AmVm boIH$mÀ¶m OrdZmVrb ¶moJXmZm~Ôb {Xbm OmVmo.
S>) 2017 Mm nwañH$ma H¥$îUm gmo~Vr ¶m§Zm Kmo{fV Pmbm Amho.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
1) A, ~ Am{U H$ 2) ~, H$ Am{U S> 3) A Am{U S> 4) A, ~, H$ Am{U S>

29) Consider the following statements about 'Jnanpith (Gyanpith)' Awards :

a) Sponsored by the Government of India since 1952

b) Prior to 1982 it was given for single work of a writer.

c) Now it is given for lifetime contribution of the writer.

d) Award for the year 2017 has been declared to Krishna Sobti.

Which of the above statements are correct?

1) a, b and c 2) b, c and d 3) a and d 4) a, b c and d

30) 15 ì¶m {dÎm Am¶moJmZo AÜ¶j H$moU AmhoV?
1) EZ. Ho$. qgJ 2) EZ. Ho$. {‘lm 3) EZ. Ho$. amOZ 4) EZ. Ho$. Ë¶mJr

30) Who is the Chairman of the 15th Finance Commission?

1) N. K. Singh 2) N. K. Mishra 3) N. K. Rajan 4) N. K. Tyagi

31) nwT>rb {dYmZm§n¡H$s ‘§w~B© ‘hmZJa joÌ {dH$mg àm{YH$aU (MMRDA) {df¶rMo H$moUVo {dYmZ MwH$sMo Amho?
1) ¶m àm{YH$aUMo à‘wI ‘w»¶‘§Ìr AmhoV.
2) ¶m àm{YH$aUmMr ñWmnZm 1975 gmbr Pmbr Amho.
3) ‘hmZJa Am¶wº$m§Mr Zo‘UyH$ H|$Ð emgZ H$aVo.
4) ¶m àm{YaUmZo XidiU, J¥h {Z‘m©U, nmUrnwadR>m Am{U n¶m©daU ¶m {d^mJm§‘Ü¶o gwYmaUm KS>dÊ¶mgmR>r à¶ËZ

H$am¶Mo AmhoV.
31) Which of the following statements about Mumbai Metropolitan Region Development Authority

(MMRDA) is false ?

1) Chief Minister is the Chairman of this authority

2) This agency was established in the year 1975

3) Metropolitan Commissioner is an ppointee by the Government of Inida.

4) This agency brings about improvement in sectors like transport, housing, water supply and

environment in the region.

32) S>m°. Yra|Ðnmb qgh BV³¶mV ~mVå¶m§‘Ü¶o hmoVo. Ë¶m§À¶m~m~V H$m¶ Iao Zmhr?
1) Vo Z°H$ (amï´>r¶ ‘yë¶m§H$Z Am{U àË¶m¶Z n[afX) Mo g§MmbH$ hmoVo.
2) Vo ~Zmag qhXy {dÚmnrR>mMo Hw$bJwê$ hmoVo.
3) Vo ^maVr¶ {dkmZ g§ñWoMo g§MmbH$ hmoVo.
4) Ë¶m§Mr UGC À¶m AÜ¶jnXr {Z¶wº$s Pmbr.

32) Dr. Dhirendra Pal Singh was recently in the news. Which is not true about him?

1) He was the director of NAAC (National Assessment and Accreditation Council)

2) He was the Vice-Chancellor of Banaras Hindu University.

3) He was the Director of Indian Institute of Science.

4) He has been appointed as the Chairman of UGC.
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33) ‘hmamï´>mVrb S>m°. AãXþb H$bm‘ A‘¥V Amhma ¶moOZm H$emer g§~§{YV Amho?
1)Am{Xdmgr ^mJmVrb Cƒ {ejU g§ñWm§‘Ü¶o Mm¡ag Amhma nwadÊ¶m~m~V
2)Am{Xdmgr ^mJmVrb ‘mÜ¶{‘H$ emioVrb JaOy {dÚmÏ¶mªZm Mm¡ag Amhma nwadÊ¶m~m~V
3)Am{Xdmgr ^mJmVrb J ©̂dVr Am{U ñVZXm ‘mVm§Zm Mm¡ag Amhma nwadÊ¶m~m~V
4)A§JUdmS>r go{dH$m§Zm Mm¡ag Amhma nwadÊ¶m~m~V

33) In Maharashtra, Dr. Abdul Kalam Amrut Ahar Yojana is related with

1) Providing square meal in higher education institutes in the tribal areas.

2) Providing square meal to the needy students in the secondary schools in the tribal areas.

3) Providing square meal to the pregnant and lactating mothers in the tribal areas.

4) Providing square meal to Anganwadi Sevikas.

34) OmoS>çm bmdm …
    (boIH$)        (nwñVHo$)
A) eer Wê$a I) KmMa KmoMa
~) aKwam‘ amOZ II) X EÊS> Am°’$ H$‘m©
H$) gmo‘rZr goZJwám III) Am¶ Sy> ìhm°Q> Am¶ Sy>
S>) {ddoH$ emZ~mJ IV) X B©am Am°’$ S>mH©$Zog
n¶m©¶r CÎmao …

A ~ H$ S>
1) IV III II I

2) IV II III I

3) III IV II I

4) III IV I II

34) Match the pairs :

    (Author)              (Books)

a) Shashi Tharoor i) Ghachar Chochar

b) Reghuram Rajan ii) The End of Karma

c) Somini Sengupta iii) I Do What I Do

d) Vivek Shanbhag iv) An Era of Darkness

Answer Options :

(a) (b) (c) (d)

1) IV III II I

2) IV II III I

3) III IV II I

4) III IV I II

35) 2017 gm{hË¶mMo Zmo~ob nm[aVmo{fH$ H$mPwAmo B{eJwamo ¶m§Zm {‘imbo Amho. nwT>rbn¡H$s H$moUVr gm{hË¶H¥$Vr Zmhr?
A) X [a‘oÝg Am°’$ X S>o ~) E nob ìhÿ Am°’$ {hëg
H$) A°Z Am{Q>©ñQ> Am°’$ X âbmoqQ>J dëS>© S>) Zm°d}{O¶Z dwS>
B) H$mâH$m Am°Z X emoAa
n¶m©¶r CÎmao -
1) A, ~, H$, S>, B 2) ~, H$ Am{U S> 3) ~, H$ A{U B 4) S> Am{U B
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35) Kazuo Ishiguro is awarded with Nobel Prize in literature in 2017. Which of the following are not

his works?

a) The Remains Of The Day b) A Pale View Of Hills

c) An Artist Of The Floating World d) Norwegian Wood e) Kafka On The Shore

Answer Options :

1) a, b, c, d, e 2) b, c and d 3) b, c and e 4) d and e

36) A¶mo½¶  {dYmZ AmoiIm.
A) àW‘ OmJ{VH$ gm¶~a ñnog n[afX b§S>Z ¶oWo 2011 ‘Ü¶o Am¶mo{OV Ho$br Jobr.
~) Mm¡Wr OmJ{VH$ gm¶~a ñnog n[afX ~wS>mnoñQ> ¶oWo 2015 ‘Ü¶o Am¶mo{OV Ho$br Jobr.
H$) nmMdr OmJ{VH$ gm¶~a ñnog n[afX {X„r ¶oWo 2017 ‘Ü¶o Am¶mo{OV Ho$br Jobr.
1) A 2) ~ 3) H$ 4) darbn¡H$s H$moUVohr Zmhr

36) Select the incorrect  statement.

a) The first Global Conference of Cyber Space was held in London in 2011.

b) The fourth Global Conference on Cyber Space Was held in Budapest in 2015.

c) The fifth Global conference on Cyber Space was held in Delhi in 2017.

1) a 2) b 3) c 4) None of the above

37) A¶mo½¶  {dYmZ {ZdS>m.
A) àË¶oH$ dfu 10 Am°³Q>mo~a amoOr OmJ{VH$ ‘mZ{gH$ Amamo½¶ {Xdg åhUyZ nmibm OmVmo.
~) OmJ{VH$ ‘mZ{gH$ Amamo½¶ {XZ 2017 Mr g§H$ënZm 'H$m‘mÀ¶m {R>H$mUr ‘mZ{gH$ Amamo½¶' hr hmoVr.
H$) àË¶H$ dfu 7 E{àb amoOr OmJ{VH$ Amamo½¶ {XZ gmOam Ho$bm OmVmo.
S>) 2017 gmbÀ¶m OmJ{VH$ Amamo½¶ {XZmMr g§H$ënZm 'Z¡amí¶' Aer hmoVr.
1) ~ 2) S> 3) H$ 4) darbn¡H$s H$moUVohr Zmhr

37) Choose the incorrect statement.

a) The World Mental Health Day is observed on 10th October every year.

b) The theme of 2017 World Mental HealthDay was 'Mental Health at the Workplace'.

c) The World Health day is celebrated on April 7th every year.

d) The theme of 2017 World Health Day was 'Depression.'

1) b 2) d 3) c d) None of the above

38) ^maVr¶ emgZmZo 5 Am°³Q>mo~a Vo 25 Am°³Q>mo~a 2017 hm 21 {Xdgm§Mm H$mbI§S> ...... åhUyZ gmOam Ho$bm.
1) n¶©Q>Z nd© 2) ñdÀN>Vm n§YadS>m
3) amï´>r¶ EH$mË‘Vm nd© 4) ‘mZ{gH$ Amamo½¶ OmJ¥Vr A{^¶mZ

38) From 5th October to 25th October 2017 - this period of 21 days was celebrated by the Government

of India as

1) Paryatan Parv 2) Swachhata Pakhwada

3) National Integration Parv 4) Mental Health Awareness Abhiyan

39) ^maV emgZmMm '^maV ZoQ>' hm ‘hÎdnyU© H$m¶©H«$‘ ...... er g§~§YrV Amho.
1) ^maVmVrb J«m‘rU Am{U gwXÿa ^mJm§‘Ü¶o ~«m°S>~±S> godm nwadUo.
2) ^maVmVrb gd© Cƒ e¡j{UH$ g§ñWm§Zm ~«m°S>~±S> godm nwadUo.
3) ^maVmVrb gd© aoëdo ñQ>oeZm§da ~«m°S>~±S> godm nwadUo.
4) ^maVmVrb gd© gaH$mar é½Umb¶m§Zm ~«m°S>~±S> godm nwadUo.
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39) 'Bharat Net' is a flagship programme of the Government of India.

1) To provide broadband services in rural and remote areas in India.

2) To provide broadband services in all higher educational institutes in India.

3) To provide broadband services in all railway stations in India.

4) To provide broadband services to all government hospitals in India.

40) ‘hmamï´> emgZmMr gw‘Vr~mB© gwH$irH$a CÚmo{JZr ‘{hbm gj‘rH$aU ¶moOZm H$emer g§~§{YV Amho?
1) (AZwXmZ nmÌ Pmboë¶m) nmÌ ‘{hbm ñd¶§ghmæ¶Vm g‘whm§Zm ì¶mO AZwXmZ XoÊ¶m~m~V.
2) ‘{hbm CÚmo{OH$m§Zm O{‘Z IaoXrgmR>r H$O© nwaaR>m.
3) ‘§w~B© Am{U ZmJnya‘Yrb ‘{hbm CÚmo{OH$m§Zm H$a ‘m’$s
4) ‘hmamï´>mVrb ñd¶§ghmæ¶Vm g‘whm§Zm 4% XamZo H$O© nwadR>m H$aUo.

40) Government of Maharashtra's Sumatibai Sukalikar Udyogini Mahila Sakshamikaran Yojana is

related to

1) Interest subvention to eligible women Self Helf Groups

2) Loan facilities to women entrepreneurs to buy land

3) Tax waivers for women entrepreneurs in Mumabi and Nagpur

4) Loan with 4% interest to women Self Help Groups in Maharashtra.

41) nwT>rbn¡H$s H$moUË¶m Jwá amOmZo ‘h|Ðm{XË¶ hr nXdr KoVbr&
1) Xþgam M§ÐJwá 2) g‘wÐJwá 3) Hw$‘maJwá 4) ñH§$XJwá

41) Who from the following Gupta kings took the title of Mahendraditya?

1) Chandragupta II 2) Samudragupta 3) Kumaragupta 4) Skandagupta

42) OmoS>çm bmdm.
A) VjU I)  gwVma
~) ^mJwXJ II)  H$a dgwb H$aUmam
H$) jÎmar III) amOmMm ImOJr H$ma^mar
S>) {dYmVm IV) nwéf Am{U {ó¶m ^mJ KoV Ago H$m¶Xo‘§S>i
n¶m©¶r CÎmao …

A ~ H$ S>
1) IV III II I

2) II I IV III

3) I II III IV

4) III IV I II

42) Match the following :

a) Takshan i) Carpenter

b) Bhagadugha ii) Collector of taxes

c) Kshattri iii) Chamberlain

d) Vidatha iv) An assembly in which both men and women participated

Answer Options :

(a) (b) (c) (d)

1) IV III II I

2) II I IV III

3) I II III IV

4) III IV I II
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43) Imbrb {dYmZm§Mm {dMma H$am d CÎmamMm ¶mo½¶ n¶m©¶ {ZdS>m …
1) ‘hmamï´>mVrb Omod}, Zodmgm, Xm¶‘m~mX, Mm§S>mobr, gmoZJmd, BZm‘Jmd, àH$meo, Zm{eH$, BË¶mXr {R>H$mUr Vm‘«nmfmU

¶wJrZ g§ñH¥$VrMo Adeof {‘imbo AmhoV.
2) amOñWmZ‘Ü¶o Amhma d {Jbw§S>, ‘Ü¶àXoemVrb ‘midm, H$m¶Wm, EaU, BË¶mXr {R>H$mUr Vm‘«nmfmU ¶wJrZ g§ñH¥$VrMo

Adeof {‘imbo AmhoV.
n¶m©¶r CÎmao …
1) XmoÝhr {dYmZo ~amo~a AmhoV. 2) XmoÝhr {dYmZo MwH$sMr AmhoV.
3) {dYmZ A ~amo~a Amho, na§Vw {dYmZ ~ MwH$sMo Amho. 4) {dYmZ ~ ~amo~a Amho, na§Vw {dYmZ A MwH$sMo Amho.

43) Consider the following statements and choose the corret answer option :

a) The relics of Chalcolithic civilization were found at Jorwe, Nevasa, Daimabad, Chandoli,

Songaon, Inamgaon, Prakashe, Nasik, etc. in Maharashtra.

b) The relics of Chalcolithic civilization were found at Ahar and Gilund in Rajasthan and Malwa,

Kayatha, Eran, etc. in Madhya Pradesh.

Answer Options :

1) Both the statements are correct

2) Both the statements are incorrect

3) Statement a is correct but statement b is incorrect

4) Statement b is correct but statement a is incorrect

44) Xmeamk ¶wÕ nwT>rbn¡H$s H$moUmV KS>bo hmoVo?
1) nwamo{hV d {dídm{‘Ì 2) {dídm{‘Ì d ^aV O‘mV
3) gwXmg d d{eð> 4) nwé d {dídm{‘Ì

44) Dasharadnya Yuddha (war) was fought between whom from the following ?

1) Purohit and Vishwamitra 2) Vishwamitra and Bharat tribe

3) Sudas and Vasishtha 4) Puru and Vishwamitra

45) Imbrbn¡H$s H$moUË¶m {ebmboImV g‘«mQ> AemoH$mÀ¶m 'Yå‘'Mr ‘m{hVr Amho?
1) N>moQ>o {ebmboI 2) ^m~«w {ebmboI 3) H$qbJ {ebmboI 4) Mm¡Xm {ebmboI

45) Which of the following edicts have information about Samrat Ashoka's Dhamma ?

1) Minor edict 2) Bhabm edicts 3) Kalinga edicts 4) Fourteen edicts

46) M§ÐJwá ‘m¡¶m©À¶m amÁ¶mMo Mma àm§V d Ë¶m§À¶m amOYmÝ¶m ¶m§À¶m OmoS>çm Owidm.
A) CÎmanW I)  nmQ>brnwÌ
~) npíM‘ nW II) gwdU©{Jar
H$) nyd© nW III) C‚m{¶Zr
S>) X{jU nW IV) Vj{ebm
n¶m©¶r CÎmao …

A ~ H$ S>
1) II III IV I

2) I IV II III

3) IV III I II

4) III II IV I
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46) Match the four provinces in Chandragupta Maurya's kingdom with their capitals :

a) Uttarapatha I) Patliputra

b) Paschim path II) Suvarnagiri

c) Purva path III) Ujjayini

d) Dakshin path IV) Takshashila

(a) (b) (c) (d)

1) II III IV I

2) I IV II III

3) IV III I II

4) III II IV I

47) Imbrb {ddaUmdê$Z ì¶º$s AmoiIm …
A) {demb gm‘«mÁ¶mMm g§ñWmnH$
~) gwg§ñH¥$V, {dÛmZ Am{U H$dr
H$) à{gÕ H$dr h[agoZ hm Ë¶mMm amOH$dr hmoVm d ~m¡Õn§S>rV dgw~§Yy Ë¶mÀ¶m Xa~mamV hmoVm.
S>) '^maVr¶ Zonmo{b¶Z' Aer {dÝg|Q> pñ‘W Ë¶mMr àe§gm H$aVmV.
n¶m©¶r CÎmao …
1) h[agoZ 2) H${ZîH$ 3) g‘wÐJwá 4) M§ÐJwá ‘m¡¶©

47) Identify the person from the following description :

a) Founder of a great empire.

b) Cultured, scholar and a poet.

c) The famous poet Harisena was his court poet and Buddhist scholar Vasubandhu was in his court.

d) Vincent Smith praises him as the 'Indian Napoleon'.

Answer Options :

1) Harisena 2) Kanishka 3) Samudragupta 4) Chandragupta Maurya

48) Imbrb {ddaUmdéZ ì¶º$s AmoiIm …
A) Ë¶mZo Cbo‘m§Mo amÁ¶mVrb dM©ñd Zï> Ho$bo.
~) Vmo namH«$‘r ¶moÕm d ¶eñdr goZmnVr hmoVm.
H$) X{jUoH$S>rb amÁ¶m§da ñdmar H$aUmam n{hbm gwbVmZ Agmdm.
S>) Ë¶mÀ¶m Xa~mamV A‘ra Iwgamo hm Zm‘d§V H$dr hmoVm.
n¶m©¶r CÎmao …
1) AëV‘g 2) ‘h‘§X VwKbH$ 3) A„mCÔrZ {IbOr 4) Hw$Vw~wÔrZ Eo~H$

48) Identify the person from the description given below:

a) He destroyed the dominance of Ulemas in the State.

b) He was a mighty warrior and a successful general.

c) He was supposed to be the fist Sultan to attack the Southern kingdoms.

d) The famous poet Amir Khusro was in his court.

Answer Options :

1) Altamash 2) Muhamad Tughlaq 3) Alauddin Khilji 4) Qutubuddin Aibak

49) Imbrb {ddUmdê$Z ì¶º$s AmoiIm …
A) ¶m amOmg 'Am§Y«̂ moO' hr nXdr XoÊ¶mV Ambobr hmoVr.
~) Ë¶mÀ¶m Xa~mamV AmR> à{gÕ VobJw H$dr hmoVo.
H$) 'ZmJbnwa‘' ZmdmMo ZJa Ë¶mZo ñWmnZ Ho$bo hmoVo.
S>) {~Xa, Jwb~Jm© ¶m ‘wgb‘mZ amÁ¶mÀ¶m amOYmÝ¶m qOH$Umam Vmo EH$‘od qhXÿ amOm hmoVm.
1) am‘Xod am¶ 2) nwbHo$er àW‘ 3) n{hbm namÝVH$ 4) H¥$îUXodam¶
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49) Identify the person from the description given below:

a) He was given the title Andhra Bhoj.

b) There were eight famous Telugu poets in his court.

c) He established the city called 'Nagalapuram'.

d) He was the only Hindu king to conquer the capitals of the Muslim kingdoms of Bidar and

Gulbarga.

1) Rama Deva Raya 2) Pulakeshi I 3) Parantaka I 4) Krishnadeva Raya

50) Q>rny gwbVmZ Am{U B§J«O ¶m§À¶mV Pmboë¶m lra§JnÅ>Z VhmV Imbrbn¡H$s H$moUVr VaVyX ZìhVr?

1) Q>rnyZo ¶wÕ IM© åhUyZ gmS>oVrZ H$moQ>r én¶o B§J«Om§Zm ÚmdoV.
2) Q>rnyZo Amnbo {Zå‘o amÁ¶ B§J«Om§Zm Úmdo.
3) Q>rnyMr XmoZ ‘wbo B§J«Om§H$S>o Amobrg amhVrb.
4) Q>rnyZo V¡ZmVr ’$m¡OoMm ñdrH$ma H$amdm.

50) Which one of the following provisions was not involved in the treaty of Shrirangapattana between

Tipu Sultan and the British ?

1) Tipu should give the war expenditure worth three and half crore rupees to the British.

2) Tipu should give half of his State to the British.

3) Tipu's two sons will be hostages of the British.

4) Tipu should accept Subsidiary Alliance.

51) ...... ¶m§Zr amo‘ Am{U n°[ag ‘Ü¶ohr '’«$s B§{S>¶m g|Q>g©' gwê$ Ho$br hmoVr.
1) gŵ mf M§Ð ~mog 2) ‘°S>‘ H$m‘m 3) A°Zr ~oP§Q> 4) í¶m‘Or H¥$îU d‘m©

51) ...... had also founded 'Free India Centres' in Rome and Paris.

1) Subhash Chandra Bose 2) Madam Cama

3) Annie Besant 4) Shyamji Krishna Varma

52) nwT>rb dm³¶mV H$moUmMo dU©Z Ho$bo Amho?
A) Vr Jm§YrOtMr H$Å>a AZw¶m¶r hmoVr.
~) Vr {~«{Q>e Ama‘ma à‘wImMr ‘wbJr hmoVr.
H$) Vr ‘ram ~oZ ¶m bmoH${à¶ ZmdmZo AmoiIbr OmV Ago.
1) {gñQ>a {Zdo{XVm 2) {‘g H$mn]Q>a 3) {‘g ñbmX 4) {‘g ZmBqQ>Job

52) Who is described in the following sentences ?

a) She was Gandhiji's staunch disciple.

b) She was the daughter of a British admiral.

c) She was popularly known as Mira Behn.

1) Sister Nivedita 2) Miss Carpenter 3) Miss Slade 4) Miss Nightingale

53) Imbrb {dYmZm§Mm {dMma H$am d CÎmamMm ¶mo½¶ n¶m©¶ {ZdS>m …
A) ^maVmVrb {d{dY ZdrZ KS>m‘moS>r na§namJV Am[U ‘ZmZo àOm Agboë¶m g‘mOmg ~XbÊ¶mMr bmoH$emhrMr

H$ënZm pñdH$mê$Z Midi H$aÊ¶mMr hmH$ XoV hmoË¶m.
~)   ho H$m¶© H$R>rU Am{U {dñ‘¶H$maH$ hmoVo.
n¶m©¶r CÎmao …
1) XmoÝhr {dYmZo ~amo~a d {dYmZ ~ {dYmZ A Mo ¶mo½¶ ñnï>rH$aU Amho.
2) XmoÝhr {dYmZo MwH$sMr AmhoV.
3) XmoÝhr {dYmZo ~amo~a na§Vw {dYmZ ~ {dYmZ A Mo ¶mo½¶ ñnï>rH$aU Zmhr.
4) {dYmZ A ~amo~a nU {dYmZ ~ MyH$
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53) Consider the following statements and choose the correct answer option :

a) The new variety of activity in India therefore called for the transformation of a traditionally

and mentally subject society into one receptive to democratic ideas and responding to the

call for agitation.

b) It was an arduous and stupendous task.

Answer Options :

1) Both the statements are correct and statement b is the correct explanation of statement a

2) Neither of the statements is correct

3) Both the statements are correct but statement b is not the correct explanation of statement a

4) Statement a is correct but statement b is incorrect

54) nwT>rb dm³¶mV dU©Z Ho$bobo g‘mOgwYmaH$ H$moU Vo AmoiIm…
A) Ë¶m§À¶m Hw$Qw>§~mMm OmVr ì¶dñWoMm {Y¸$ma H$aUmè¶m H$~ramÀ¶m {eH$dUwH$sda {dídmg hmoVm.
~) Ë¶m§Mo d{S>b g¡Ý¶mV hmoVo Am{U Vo gŵ oXma-‘oOa åhUyZ godm{Zd¥Îm Pmbo hmoVo.
H$) Ë¶m§À¶m emioVrb {enmB© ~mBªZm Ë¶m§Mo Xáahr Añn¥í¶ dmQ>o.
S>) Vo Añn¥í¶ Agë¶m‘wio g§ñH¥$V {eHy$ eH$bo ZmhrV.
1) ‘hmË‘m Á¶mo{V~m ’w$bo 2) lr OdiH$a 3) S>m°. ~m~mgmho~ Am§~oS>H$a     4) lr Kmobn

54) Name the social reformer described in the following sentences :

a) His family believed in the teachings of Kabir who condemned the caste system.

b) His father served in the army and retired as a Subedar-Major.

c) His satchel was untouchable for the lady peon in his school.

d) He could not study Sanskrit because he was an untouchable.

1) Mahatma Jyotiba Phule 2) Shri Javalkar

3) Dr. Babasaheb Ambedkar 4) Shri Gholap

55) nwT>rb dm³¶mV H$moUË¶m g‘mOgwYmaH$mMo dU© Ho$bo Amho?
A) Ë¶m§Zm A‘o[aH$Z ¶w{ZQ>oar¶Z A°gmo{gEeZMr {eî¶d¥Îmr {‘imbr hmoVr.
~) AZoH$ Y‘mªMm Vm¡b{ZH$ Aä¶mg H$aÊ¶mgmR>r Vo XmoZ dfmªH$[aVm B§½b§S>bm Jobo hmoVo.
H$) A°‘ñQ>aS>°‘ ¶oWrb Y‘©n[afXobm Vo CnpñWV hmoVo.
S>) gw~moY n{ÌHo$gmR>r Vo boIZ H$arV.
1) S>m°. ~m~mgmho~ Am§~oS>H$a   2) {dÇ>a am‘Or qeXo 3) ^mD$amd nmQ>rb 4) ~m~yamd OoYo

55) Name the social reformer described in the following sentences :

a) He was the recipient of the American Unitarian Association Scholarship.

b) He had been to England for two years for the comparative study of many religions.

c) He attended the conference on religions at Amsterdam.

d) He used to write for Subodh Patrika.

1) Dr. Babasaheb Ambedkar 2) Vitthal Ramji Shinde

3) Bhaurao Patil 4) Baburao Jedhe

56) ¶mXr-I Am{U ¶mXr-II ¶mÀ¶m ¶mo½¶ OmoS>çm Owidm Am{U ¶mo½¶ n¶m©¶ {ZdS>m.
       ¶mXr-I        ¶mXr-II

A) AS>©Hw§$S>o I)  Abo³Pm§S>a ìhm°Z h§~moëQ>
~) A°ÝW«monmo{OAm°J«m’$s II) OrZ ~«wÝg
H$) {OAm°J«m{’$¶m øw‘oZm III) H$mb© [aQ>a
S>) H$m°g‘m°g IV) ’«o$S>[aH$ a°Q>Pob
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n¶m©¶r CÎmao …
A ~ H$ S>

1) II III II IV

2) IV II III I

3) III IV II I

4) I III IV II

56) Match List I with List I1 and select the correct answer from the options given :

List-I         List-II

a) Erdkunde I) Alexander von Humboldt

b) Anthropo-Geographic II) Jean Brunhes

c) Geogrda Humana III) Carl Ritter

d) Cosmos IV) Friedrich Ratzel

Answer Options :

(a) (b) (c) (d)

1) II III II IV

2) IV II III I

3) III IV II I

4) I III IV II

57) Imbrb {dYmZm§Mr gË¶Vm Vnmgm Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho Vo AmoiIm …
{dYmZ 'A' … n¥Ïdr 24 Vmgm‘Ü¶o 3600 aoIm§emV {’$aVo.
{dYmZ '~' … àË¶oH$ aoImd¥Îm Amobm§S>Ê¶mg n¥Ïdrbm Mma {‘{ZQ>mMm H$mbmdYr bmJVmo.
1) {dYmZ 'A' Am{U '~' XmoÝhr ~amo~a AmhoV.
2) {dYmZ 'A' Am{U '~' XmoÝhr MyH$ AmhoV.
3) {dYmZ 'A' ~amo~a AgyZ {dYmZ '~' MyH$ Amho.
4) {dYmZ 'A' MyH$ AgyZ {dYmZ '~' ~amo~a Amho.

57) Examine the following statements and identify the correct statementls :

Statement 'A' : Within 24 hours the Earth rotates in 3600 longitudes.

Statement 'B' : The Earth requires four minutes to cross the one degree longitude.

1) Statements 'A' and 'B' are correct

2) Statements 'A' and 'B' are incorrect

3) Statement 'A' is correct but statement 'B' is incorrect

4) Statement 'A' is incorrect but statement 'B' is correct

58) Imbrbn¡H$r H$moUVo ŷê$n ŷ-A§VJ©V eº$s¨Mm n[aUm‘ Zmhr?

1) J«°~Z 2) JQ> nd©V 3) Ad{eï> nd©V 4) IMXar
58) Which of the following relief features is not an effect of internal forces of the Earth ?

1) Graben 2) Horst 3) Residual Mountain    4) Rift Valley

59) Ádmbm‘wIrÀ¶m CÐoH$m‘wio {Z‘m©U Pmboë¶m ŷê$nmÀ¶m Imbrb AmH¥$Ë¶m§Mm ¶mo½¶ n¶m©¶ {ZdS>m …
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1) A) A°{gS> bmìhm e§Hy$ 2) A) ~o{gH$ bmìhm e§Hy$
~) g§{‘l e§Hy$ ~) qgS>a e§Hy$
H$) qgS>a e§Hy$ H$) g§{‘l e§Hy$
S>) ~o{gH$ bmìhm e§Hy$ S>) A°{gS> bmìhm e§Hy$

3) A) A°{gS> bmìhm e§Hy$ 4) A) qgS>a e§Hy$
~) ~o{gH$ bmìhm e§Hy$ ~) A°{gS> bmìhm e§Hy$
H$) qgS>a e§Hy$ H$) ~o{gH$ bmìhm e§Hy$
S>) g§{‘l e§Hy$ S>) g§{‘l e§Hy$

59) Select the proper option from the following figures of 'Relief Features' created by volcanic

eruption :

(a)

(b)
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(c)

(d)

1) a) Acid Lava Cone 2) a) Basic Lava Cone

b) Mixed Cone b) Cinder Cone

c) Cinder Cone c) Mixed Cone

d) Basic Lava Cone d) Acid Lava Cone

3) a) Acid Lava Cone 4) a) Cinder Cone

b) Basic Lava Cone b) Acid Lava Cone

c) Cinder Cone c) Basic Lava Cone

d) Mixed Cone d) Mixed Cone

60) {dfwdd¥ÎmmnmgyZ Y«wdmH$S>o dmhUmè¶m J«hr¶ dmè¶m§Mm ¶mo½¶ H«$‘ AmoiIm.
1) npíM‘r dmao, ì¶mnmar dmao, Y«wdr¶ dmao 2) ì¶mnmar dmao, npíM‘r dmao, Yw«dr¶ dmao
3) ì¶mnmar dmao, Y«wdr¶ dmao, npíM‘r dmao 4) Y«wdr¶ dmao, npíM‘r dmao, ì¶mnmar dmao

60) Find out the correct sequence of planetary winds found from the equator to pole.

1) Westerlies, Trade winds, Polar winds 2) Trade winds, Westerlies, Polar winds

3) Trade winds, Polar winds, Westerlies 4) Polar winds, Westerlies, Trade winds

61) Imbr XmoZ {dYmZo AmhoV. Ë¶mn¡H$s (A) ho {dYmZ AgyZ (a) ho Ë¶mMo H$maU Amho Imbrb {Xboë¶m n¶m©¶m§n¡H$s ¶mo½¶
n¶m©¶ {ZdS>m.
{dYmZ (A) … {dfwdd¥Îmr¶ àXoem‘Ü¶o gmJamMr j‘Vm H$‘r AgVo.
{dYmZ (a) … {dfwdd¥Îmr¶ àXoe hm A{V nO©Ý¶‘mZ, Am «̂mÀN>m{XV AmH$me Am{U AmÐ©Vm hr d¡{eîQ>ço Agbobm Amho.
1) (A) Am{U (a) XmoÝhr gË¶ AgyZ (a) ho (A) Mo {~ZMyH$ ñnï>rH$aU Amho.
2) (A) Am{U (a) XmoÝhr gË¶ AgyZ (a) ho (A) Mo {~ZMyH$ ñnï>rH$aU Zmhr.
3) (A) gË¶ AgyZ (a) AgË¶ Amho.
4) (A) AgË¶ AgyZ (a) gË¶ Amho.

61) Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason

(R). Select your answer from the following options.

Assertion (A) : Oceanic salinity is low in the equatorial region.

Reason (R) : Equatorial region is characterized by heavy rainfall, cloudiness and humidity.

1) Both (A) and (R) are true and (R) is the correct explanation of (A)

2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

3) (A) is true but (R) is false

4) (A) is false but (R) is true
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62) Imbrbn¡H$s H$moUVm amgm¶{ZH$ {dXmaUmMm àH$ma Zmhr?
1) ÐdrH$aU 2) ^ñ‘rH$aU (Am°p³gS>oeZ)
3) H$~m©åb {H«$¶m (H$m~m}ZoeZ) 4) jaU {H«$¶m

62) Which of the following is not a type of chemical weathering?

1) Solution 2) Oxidation 3) Carbonation 4) Corrosion

63) Imbrbn¡H$s ¶mo½¶ {dYmZ/Zo AmoiIm …
{dYmZ 'A' … {d{eï> Vmn‘mZmda R>am{dH$ AmH$ma‘mZmÀ¶m hdoV Agbobo ~mînmMo à‘mU åhUOo Ë¶m Ë¶m hdoMr gmnoj
AmÐ©Vm hmo¶.
{dYmZ '~' … hdoMr {Zanoj AmÐ©Vm Am{U Ë¶mM Vmn‘mZmda Ë¶m hdoMr H$‘mb ~mîn YmaU eº$s ¶m§À¶m JwUmoÎmambm {d{eï>
AmÐ©Vm åhUVmV.
1) {dYmZ 'A' Am{U '~' XmoÝhr ~amo~a AmhoV. 2) {dYmZ 'A' Am{U '~' XmoÝhr MyH$ AmhoV.
3) {dYmZ 'A' ~amo~a AgyZ {dYmZ '~' MyH$ Amho. 4) {dYmZ 'A' MyH$ AgyZ {dYmZ '~' ~amo~a Amho.

63) Identify the correct statemenus from the following :

Statement 'A' : The weight of water vapour per unit volume of air in specific temperature is

called relative humidity.

Statement 'B' : Specific humidity is the ratio of air water vapour content to its water vapour

capacity at a given temperature.

1) Statements 'A' and 'B' both are'corred

2) Statements 'A' and 'B' both are incorrect

3) Statement 'A' is correct but statement 'B' is incorrect

4) Statement 'A' is incorrect but statement 'B' is correct

64) Imbrbn¡H$s ¶mo½¶ {dYmZ/Zo AmoiIm …
{dYmZ (A) … gmJar joÌmV g‘Vmnaofm EH$‘oH$sg d Ajd¥Îmmg OdiOdi g‘m§Va OmVmV.
{dYmZ (a) … gmJar ñWmZm§Mo Vmn‘mZ C§MrÀ¶m n[aUm‘m§nmgyZ ‘wº$ AgVo.
1) (A) Am{U (a) XmoÝhr ~amo~a AmhoV Am{U (a) ho (A) Mo AMyH$ ñnï>rH$aU Amho.
2) (A) d (a) XmoÝhr ~amo~a AmhoV na§Vw (a) ho (A) Mo AMyH$ ñnï>rH$aU Zmhr.
3) (A) ho ~amo~a Amho na§Vw (a) ho MyH$ Amho.
4) (A) ho MyH$ Amho na§Vw (a) ho ~amo~a Amho.

64) Identify the correct statemenus from the following :

Statement 'A' : The weight of water vapour per unit volume of air in specific temperature is

called relative humidity.

Statement 'B' : Specific humidity is the ratio of air water vapour content to its water vapour

capacity at a given temperature.

1) Statements 'A' and 'B' both are'corred

2) Statements 'A' and 'B' both are incorrect

3) Statement 'A' is correct but statement 'B' is incorrect

4) Statement 'A' is incorrect but statement 'B' is correct

65) Imbrb {dYmZm§Mm {dMma H$ê$Z {~ZMyH$ n¶m©¶m§Mr {ZdS> H$am.
A) Á¶m {R>H$mUr I§S>mV CVma A{Ve¶ ê§$X AgVmo, Ë¶m joÌm‘Ü¶o ‘Ëñ¶ joÌo V¶ma hmoVmV.
~) C~Xma CîUH${Q>~§Yr¶ gmJar nmÊ¶m‘Ü¶o ‘mgo‘mar {dH${gV Pmbobr Amho.
H$) CîU Am{U W§S> g‘wÐ àdmhm§À¶m {‘lUm‘YwZ ‘mí¶m§gmR>r dZñnVr ImÚ AmUbo OmVo.
S>) ^maVm‘Ü¶o A§VJ©V ‘mgo‘mar BVa ‘mgo‘mar àH$mam§nojm A{YH$ ‘hÎdmMr Amho.
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n¶m©¶r CÎmao …
1) {dYmZo A Am{U ~ gË¶ AmhoV. 2) {dYmZo A Am{U H$ gË¶ AmhoV.
3) {dYmZo ~, H$ Am{U S> gË¶ AmhoV. 4) {dYmZo A, ~ Am{U H$ gË¶ AmhoV.

65) Consider the following statements and select the correct option from the following :

a) Most of the fishing grounds occur in areas where the continental shelf is wide.

b) Fishing activity is well developed in warm tropical waters.

c) Mixing of warm and cold currents brings plant nutrients for fish.

d) Inland fisheries are more significant than other types in India.

Answer Options :

1) Statements a and b are correct 2) Statements a and c are correct

3) Statements b, c and d are correct 4) Statements a, b and c are correct

66) {dgZerb Xoem§‘Ü¶o bmoH$g§»¶m ñVyn ...... AgVmo.
1) Aé§X nm¶m Am{U é§X ‘mWm 2) é§X nm¶m Am{U é§X ‘mWm
3) é§X nm¶m Am{U Aé§X ‘mWm 4) Aé§X nm¶m Am{U Aé§X ‘mWm

66) In developing countries the population pyramid has a

1) Narrow base and wide top 2) Wide base and wide top

3) Wide base and narrow top 4) Narrow base and narrow top

67) Imbrb {dYmZm§Mr gË¶Vm Vnmgm Am{U ¶mo½¶ n¶m©¶ {ZdS>m…
{dYmZ 'A' … ^maVmMm H$mhr ŷ-^mJ CÎma JmobmYm©V AgyZ H$mhr ŷ-^mJ X{jU JmobmYm©V Amho.
{dYmZ '~' … ^maVmMm X{jUmoÎma {dñVma gw‘mao 7500 {H$.‘r. nojm hr OmñV Amho.
1) {dYmZ 'A' Am{U '~' XmoÝhr ~amo~a AmhoV.
2) {dYmZ 'A' Am{U '~' XmoÝhr MyH$ AmhoV.
3) {dYmZ 'A' ~amo~a AgyZ {dYmZ '~' MyH$ Amho.
4) {dYmZ 'A' MyH$ AgyZ {dYmZ '~' ~amo~a Amho.

67) Examine the following statements and select the correct option :

Statement 'A' : Some land area of India is situated in the northern hemisphere and some in the

southern hemisphere.

Statement 'B' : The extension of India from north to south is approximately more than 7500 km.

1) Statements 'Kand 'B' both are correct

2) Statements 'A' and 'B' both are incorrect

3) Statement 'A' is correct but statement 'B' is incorrect

4) Statement 'A' is incorrect but statement 'B' is correct

68) Imbrb {dYmZm§Mr gË¶Vm Vnmgm Am{U ¶mo½¶ n¶m©¶ {ZdS>m…
{dYmZ 'A' … {h‘mb¶rZ ZÚm ¶m {h‘mb¶mÀ¶m AZoH$ am§Jm d {edmbrH$ Q>oH$S>çm nma H$ê$Z ‘¡XmZr àXoemV àdoe H$aVmV.
{dYmZ '~' … àm¶Ûrnr¶ ZÚm àñVa §̂Jm‘wio {Z‘m©U Pmboë¶m IMXè¶mVyZ dmhVmV.
1) {dYmZ 'A' Am{U '~' XmoÝhr ~amo~a AmhoV. 2) {dYmZ 'A' Am{U '~' XmoÝhr MyH$ AmhoV.
3) {dYmZ 'A' ~amo~a AgyZ {dYmZ '~' MyH$ Amho. 4) {dYmZ 'A' MyH$ AgyZ {dYmZ '~' ~amo~a Amho.

68) Examine the following statements and select the correct option :

Statement 'A' : Himalayan rivers cross many Himalayan ranges and the Shivalik Hills and enter

into the plain area.

Statement 'B' : Peninsular rivers flow through the riff valleys created by faults.
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1) Statements 'A' and 'B' both are correct

2) Statements 'A' and 'B' both are incorrect

3) Statement 'A' is correct but statement 'B' is incorrect

4) Statement 'A' is incorrect but statement 'B' is correct

69) nO©Ý¶àXoe Am{U nO©Ý¶N>m¶oMm àXoe hr H$moUmMr d¡{eîQ>ço AmhoV?
1) AmdV} nO©Ý¶ 2) A{^gaU nO©Ý¶ 3) à{VamoY nO©Ý¶ 4) Am¡pîUH$ nO©Ý¶

69) The rain fed and rain shadow areas are the characteristics of

1) Cyclonic rainfall 2) Convectional rainfall      3) Orographic rainfall    4) Thermal rainfall

70) Imbrb d¡{eîQ>ço H$moUË¶m àXoemMr AmhoV?
A) ObdmhVwH$sgmR>r Cn¶wº$ Amho. ~) ZmaimMo CËnmXZ KoVbo OmVo.
H$) ‘mgo‘margmR>r AZwHy$b AgVmo. S>) n¶©Q>H$m§gmR>r AmH$f©H$ AgVmo.
n¶m©¶r CÎmao …
1) CÎma-^maVr¶ ‘¡XmZr àXoe 2) àm¶Ûrnr¶ nR>mar àXoe
3) {H$ZmadVu àXoe 4) {h‘mb¶rZ àXoe

70) Which region has the following characteristics ?

a) Useful for water transport b) Production of coconut is taken up

c) Favourable for fishing d) Attraction for tourists

Answer Options :

1) North-India Plain Region  2) Peninsular Plateau

3) Coastal Plains 4) Himalayan Region

71) UNEP À¶m {Z¶‘mà‘mUo Imbrb àXÿfH$ Am{U Ë¶m§À¶m ‘mÜ¶‘m§À¶m OmoS>çm Owidm …
        àXÿfH$    ‘mÜ¶‘
A) Zm¶Q´>moOZ Am°³gmB©S> I)  g‘wÐ
~) noQ´>mo{b¶‘ hm¶S´>moH$m~©Z II)  AÞ
H$) âbmoamBS> III) hdm
S>) ‘m¶H$moQ>m°p³gÝg IV) ñdÀN> nmUr
n¶m©¶r CÎmao …

A ~ H$ S>
1) I II III IV

2) IV III II I

3) III I IV II

4) III I II IV

71) Match the following Pollutants and their Mediums as per the UNEP documents :

Pollutant Medium

a) Nitrogen oxides I) Sea

b) Petroleum hydrocarbons II) Food

c) Fluorides III)  Air

d) Mycotoxins IV) Fresh water
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Answer Options :

(a) (b) (c) (d)

1) I II III IV

2) IV III II I

3) III I IV II

4) III I II IV

72) g§¶wº$ amï´>mÀ¶m ‘hmg ôZo Imbrbn¡H$s H$moUVm {Xdg OmJ{VH$ AmoPmoZ {Xdg åhUyZ {ZdS> Ho$bm Amho?
1) 1 OyZ 2) 5 OyZ 3) 1 gßQ>|~a 4) 16 gßQ>|~a

72) Which of the following days is designated as World Ozone Day by the U.N. General Assembly ?

1) 1st June 2) 5th June 3) lst September 4) 16th September

73) Imbrbn¡H$s H$moUVm h[aVJ¥h dm¶y g§nyU© ‘mZd {Z{‘©V Amho?
1) {‘WoZ 2) H$m~©Z S>m¶Am°³gmB©S> 3) Zm¶Q´>g Am°³gmB©S> 4) ³bmoamoâbyamoH$m~©Z

73) Which of the following greenhouse gases is entirely produced by human activities ?

1) Methane 2) Carbon dioxide 3) Nitrous oxide          4) Chlorofluorocarbons

74) XmoZ bJVÀ¶m Ord g‘wXm¶m‘Yrb g§H«$‘UmË‘H$ àXoe ...... åhUyZ AmoiIbm OmVmo.
1) BH$mo-PmoZ 2) BH$mo-nm°O 3) BH$mo-Q>moZ 4) BH$mo-Q>mB©n

74) The transitional area between two living organisms is known as

1) Ecozone 2) Ecophos 3) Ecotone 4) Ecotype

75) Imbrbn¡H$s H$moUË¶m ‘mZdr n[aUm‘m‘wio OmJ{VH$ hdm‘mZmV ~Xb hmoVmo?
A) 8000 dfm©nmgyZ hmoUmar O§JbVmoS> ~) AmJ Am{U A{VMaU ¶m§Mm dmna
H$) 5000 dfmªnmgyZ hmoUmar ImMamVrb ^mVeoVr S>) Am¡Úmo{JH$ H«$m§Vr
n¶m©¶r CÎmao …
1) ’$º$ S> 2) ’$º$ H$ Am{U S> 3) ’$º$ ~, H$ Am{U S> 4) darbn¡H$s gd©

75) The impact of humans on global climate has been induced by which of the following ?

a) Deforestation since 8000 years b) Use of fire and overgrazing

c) Wet paddy cultivation since 5000 years d) Industrial revolution

Answer Options :

1) Only d 2) Only c and d 3) Only b, c and d 4) All of the above

76) Xþgè¶m n§Mdm{f©H$ ¶moOZmH$mimV nwT>rbn¡H$s H$moUË¶m {R>H$mUr bmohnmobmX H$maImZm gwê$ H$aÊ¶mV Ambm Zmhr ?
A) amCaHo$bm (Amo[agm) ~) {^bmB© (N>ÎmrgJS>) H$) XþJm©nya (n. ~§Jmb) S>) ~moH$mamo (PmaI§S>)
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ H$ 3) ’$º$ S> 4) ’$º$ A Am{U S>

76) At which of the following places was an iron and steel factory not started during the Second Five

Year Plan?

a) Rourkela (Orissa) b) Bhilai (Chhattisgarh)

c) Durgapur (West Bengal) d) Bokaro (Jharkhand)

Answer Options :

1) Only a and b 2) Only c 3) Only d 4) Only a and d

77) qH$‘VdmT>rg H$maUr ŷV AgUmam nwT>rbn¡H$s H$moUVm KQ>H$ nwadR>mOÝ¶ Zmhr ?
A) {Z¶m©VdmT> ~) gmR>m H$) nV{Z{‘©VrV dmT> S>) XþîH$mi
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ H$ Am{U S> 3) ’$º$ S> 4) ’$º$ H$
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77) Which of the following is/are not the supply-side factor/s responsible for inflation ?

a) Increase in export b) Store

c) Increase in credit creation d) Famine

Answer Options :

1) Only a and b 2) Only c and d 3) Only d 4) Only c

78) nwT>rbn¡H$s H$moUVm KQ>H$ Xm[aÐç{Z{‘©Vrg H$maUr ŷV Zmhr?
A) ^mddmT> ~) emgH$s¶ IMm©V dmT>
H$) VwQ>rMm AW©̂ aUm S>) Aën ~MVr d ^m§S>db{Z{‘©Vr
n¶m©¶r CÎmao …
1) ’$º$ A Am{U H$ 2) ’$º$ A, H$ Am{U S> 3) ’$º$ ~ Am{U S> 4) ’$º$ ~ Am{U H$

78) Which of the following factors are not responsible for poverty ?

a) Inflation b) Increase in Government expenditure

c) Deficit Financing d) Short savings and Capital formation

Answer Options :

1) Only a and c 3) Only b and d 2) Only a, c and d 4) Only b and c

79) ''{H$‘mZ OrdZmdí¶H$ JaOm§Mr nyV©Vm H$aÊ¶mgmR>r Amdí¶H$ {H$‘mZ CËnÞmMm A^md'' ¶mMm g§~§Y Xm[aÐçmÀ¶m
nwT>rbn¡H$s H$moUË¶m àH$mamer ¶oVmo?
1) {Zanoj Xm[aXç 2) gmnoj Xm[aÐç 3) darb XmoÝhr 4) ¶mn¡H$s Zmhr

79) "Absence of minimum income to get the minimum needs of life" is concerned with which of the

following types of poverty ?

1) Absolute poverty 2) Relative poverty 3) Both the above 4) None of the above

80) AÞ gwajm H$m¶Xm, 2013 À¶m g§X^m©V nwT>rbn¡H$s ¶mo½¶ {dYmZ/{dYmZo {ZdS>m.
A) hm H$m¶Xm 75% J«m‘rU d 50% ehar bmoH$g§»¶obm AÞ gwajoMm bm^ CnbãY H$ê$Z XoVmo.
~) bm^mÏ¶mªZm Xa‘hm à.{H$. é.3 à‘mUo Vm§Xþi, à.{H$. é.2 à‘mUo OmS>ô aS>o YmÝ¶ d à.{H$. é.1 à‘mUo Jhÿ CnbãY

hmoUma Amho.
n¶m©¶r CÎmao …
1) XmoÝhr A Am{U ~ ~amo~a    2) XmoÝhr A Am{U ~ MyH$     3) ’$º$ A ~amo~a 4) ’$º$ ~ ~amo~a

80) Identify the correct statemenus in context of the Food Security Act, 2013.

a) It gives legal entitlement of food security to 75% rural and 50% urban population.

b) A beneficiary will be entitled rice, coarse cereals and wheat @ é. 3, é. 2 and é.1 per kg per

month respectively.

Answer Options :

1) Both a and b are correct 2) Both a and b are incorrect

3) Only a is correct 4) Only b is correct

81) ^maVr¶ OZJUZm Ahdmb, 2011 Zwgma EHy$U OmJ{VH$ bmoH$g§»¶oÀ¶m {H$Vr Q> o̧$ ^maVr¶ bmoH$g§»¶m Amho?
1) 16.5 Q> o̧$ 2) 17.3 Q> o̧$ 3) 17.5 Q> o̧$ 4) 17.7 Q> o̧$

81) What is the percentage of Indian population in the population of the world according to the

Indian Census Report, 2011 ?

1) 16.5 percent 2) 17.3 percent 3) 17.5 percent 4) 17.7 percent
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82) nwT>rbn¡H$s H$moUË¶m bmoH$g§»¶m YmoaUmZwgma ^maVr¶ nwéfm§Mo {ddmhmMo {H$‘mZ d¶ 21 df} d {ó¶m§Mo {H$‘mZ d¶ 18
df} {ZpíMV H$aÊ¶mV Ambo?
1) amï´>r¶ bmoH$g§»¶m YmoaU, 1976 2) amï´>r¶ bmoH$g§»¶m YmoaU, 1977
3) amï´>r¶ bmoH$g§»¶m YmoaU, 2000 4) bmoH$g§»¶m ^{dî¶doY (2001-2026)

82) Which of the following population policies decided the minimum marriage age as 21 years for

males and 18 years for females ?

1) National Population Policy, 1976 2) National Population Policy, 1977

3) National Population Policy, 2000 4) Population Projections (2001 - 2026)

83) ^maV gaH$maZo nwT>rbn¡H$s H$moUVo H$m¶©H«$‘ 'gm‘m{OH$ gwajm' ¶m CÔoemZo gwê$ Ho$bo Amho?
A) Am‘ AmX‘r {d‘m ¶moOZm
~) amï´>r¶ ñdmñÏ¶ {d‘m ¶moOZm
H$) amï´>r¶ gm‘m{OH$ ghmæ¶ H$m¶©H«$‘
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ ~ Am{U H$ 3) ’$º$ H$ 4) darb gd©

83) Which of the following programmes idare started by the Government of India for the purpose of

'Social Security' ?

a) Aam Aadmi Bima Yojana

b) Rashtriya Swasthya Bima Yojana

c) National Social Assistance Programme

Answer Options :

1) Only a and b 3) Only c 2) Only b and c 4) All of the above

84) h[aV amï´>r¶ CËnÞmMo (GNI) ‘mnZmer nwT>rbn¡H$s H$moUVo KQ>H$ g§~§{YV AmhoV?
A) amï´>r¶ CËnÞ ~) Z¡g{J©H$ g§gmYZm§‘Ü¶o KQ>           H$) n¶m©daUr¶ èhm¶
n¶m©¶r CÎmao …
1) ’$º$ A Am{U H$ 2) ’$º$ A 3) ’$º$ A Am{U ~ 4) darb gd©

84) Which of the following factors idare concerned in the calculation of Green National Income

(GNI) ?

a) National Income

b) Depletion of Natural Resources

c) Environmental Degradation

Answer Options :

1) Only a and c 2) Only a 3) Only a and b 4) All of the above

85) "ghòH$ {dH$mg bú¶o (MDGs)' ¶m‘Ü¶o nwT>rbn¡H$s H$emMo ‘mnZ Ho$bo OmVo?
A) Xm[aÐç d ~yH$ ~) ‘{hbm g~brH$aU
H$) n¶m©daUr¶ emídVVm S>) {dH$mgmgmR>r OmJ{VH$ ^mJrXmar
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ H$ Am{U S> 3) ’$º$ A, ~ Am{U H$ 4) darb gd©

85) Which of the following are measured in Millennium Development Goals (MDGs) ?

a) Poverty and Hunger

b) Women's Empowerment

c) Environmental Sustainability

d) Global Partnerships for Development
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Answer Options :

1) Only a and b 3) Only a, b and c 2) Only c and d 4) All of the above

86) ‘{hbm d ~mbH$ë¶mU ¶moOZm§‘Ü¶o nwT>rbn¡H$s H$moUË¶m ¶moOZm§Mm g‘mdoe hmoVmo?
A) A§JUdmS>r godm ¶moOZm ~) àYmZ‘§Ìr ‘mV¥ d§XZm ¶moOZm
H$) amï´>r¶ nmofU A{^¶mZ S>) ~mb gwajm ¶moOZm
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ H$ Am{U S> 3) ’$º$ A, ~ Am{U H$ 4) darb gd©

86) Which of the following schemes are included in women and child development schemes ?

a) Anganwadi Services Scheme b) Pradhan Mantri Matru Vandana Scheme

c) National Nutrition Mission d) Child Protection Scheme

Answer Options :

1) Only a and b 2) Only c and d 3) Only a, b and c 4) All of the above

87) Xm[aÐç KQ>{dÊ¶mÀ¶m Hw$R>ë¶mhr YmoaUmV ñd¶§amoOJma Am{U doVZm{Yð>rV amoOJma ¶m XmoÝhr Jmoï>tMm g‘mdoe hmoUo JaOoMo
Amho, H$maU -
A) J«m‘rU ^mJmV ñd¶§amoOJma hm OmñV àM{bV Amho.
~) doVZamoOJmamdarb Adb§{~Ëd ho ‘mbH$m§darb (Eåßbm°¶a) Adb§{~Ëd dmT>dVo.
H$) Ago Ho$bo Zmhr Va lr‘§V d J[a~m§‘Yrb Xar dmT>ob.
S>) lr‘§Vm§Mr ‘mb‘Îmm g§gmYZo dmT>Vrb.
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ ~ Am{U H$ 3) ’$º$ H$ Am{U S> 4) darb gd©

87) In any poverty reduction strategy there is a need to incorporate both self-employment and wage

employment, because

a) Self-employment is a major form of employment in rural areas.

b) Dependence on wage employment will lead to total dependence on the employer.

c) Otherwise it will increase the gap between the rich and the poor.

d) It will strengthen the asset base of the rich.

Answer Options :

1) Only a and b 2) Only b and c 3) Only c and d 4) All of the above

88) '‘mZdr Xm[aÐç {ZX}em§H$' hr g§H$ënZm gd©àW‘ ...... ¶m AhdmbmV ‘m§S>br Jobr.
1) ‘mZd {dH$mg Ahdmb, 1990 2) ‘mZd {dH$mg Ahdmb, 1997
3) ‘mZd {dH$mg Ahdmb, 2001 4) ‘mZd {dH$mg Ahdmb, 2014

88) The concept of Human Poverty Index (HPI) was introduced in the

1) Human Development Report, 1990 2) Human Development Report, 1997

3) Human Development Report, 2001 4) Human Development Report, 2014

89) '{eaJUZmË‘H$ ehao' ¶m§Mr Pmbobr ^a‘gmQ> dmT> ho EH$ ‘moR>o AmìhmZ Amho H$maU Aem eham§‘Ü¶o -
A) eha AZwemgZ g§aMZm ZgVmV.
~) Amdí¶H$ Ë¶m ZmJar nm¶m ŷV gw{dYm ZgVmV.
H$) eham§Mr dmT> hr doJmZo dmT>Umè¶m bmoH$g§»¶o‘wio Pmbobr AgVo.
n¶m©¶r CÎmao …
1) A, ~ Am{U H$ 2) A Am{U ~ 3) ~ Am{U H$ 4) A Am{U H$
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89) The phenomenal growth of 'census towns' is a challenge as these towns

a) Do not have urban governance structure

b) Do not have the requisite urban infrastructure

c) Result out of rapid population growth

Answer Options :

1) a, b and c 2) Only a and b 3) Only b and c 4) Only a and c

90) ~mamì¶m n§Mdm{f©H$ ¶moOZoMo (2012-17) ‘w»¶ C{Ôï> H$moUVo hmoVo?
1) Am{W©H$ d¥Õr d pñWa {dH$mg gmYUo. 2) ObX d¥Õr d {dH$mg gmYUo.
3) ObX d A{YH$ gd©g‘mdoeH$ d¥Õr gmYUo. 4) ObX, emídV Am{U A{YH$ gd©g‘mdoeH$ d¥Õr gmYUo.

90) Which of the following was the aim of the Twelfth Five Year Plan (2012-17) ?

1) To achieve economic growth and stable development

2) To achieve faster growth and development

3) To achieve faster and more inclusive growth

4) To achieve faster, sustainable and more inclusive growth

91) Imbrbn¡H$s H$m¶ {OAmoñQ>oeZar Am°a{~Q> (GEO) Mo AMyH$nUo dU©Z H$aVo?
1) g‘wÐgnmQ>rnmgyZMr C§Mr 20,000 {H$.‘r. d EH$ H$jm n[a «̂‘Umg 12 Vmg bmJVmV.
2) g‘wÐgnmQ>rnmgyZMr C§Mr 36,000 {H$.‘r. d EH$ H$jm n[a «̂‘Umg 24 Vmg bmJVmV.
3) g‘wÐgnmQ>rnmgyZMr C§Mr 400 {H$.‘r. d EH$ H$jm n[a «̂‘Umg 90 {‘{ZQ>o bmJVmV.
4) ¶mn¡H$s Hw$R>bohr Zmhr.

91) Which of the following describes the Geostationary Orbit (GEO) correctly ?

1) Altitude of 20,000 km above the sea level and the orbital period is 12 hours.

2) Altitude of 36,000 km above the sea level and the orbital period is 24 hours.

3) Altitude of 400 km above the sea level and the orbital period is 90 minutes.

4) None of the above

92) ’«o$gZëg ~m¶m{àP‘‘Ü¶o (λ) Va§Jbm§~rMr qH$‘V H$emda Adb§~yZ AgVo?
1) XmoZ g§b¾ CJ‘ñWmZmVrb A§Va 2) q’$OMr é§Xr
3) pñbQ> d XÿaXe©H$mMr ZoÌH$mM ¶mVrb A§Va 4) darb gd©

92) In Fresnel's Biprism, the value of wavelength (λ) depends upon

1) The distance between two coherent sources

2) The fringe-width

3) The distance between slit and eyepiece of telescope

4) All of the above

93) Á¶m ì¶º$sMo gwñnï> Ñï>rMo bKwÎm‘ A§Va 50 cm Amho, Aem ì¶º$sÀ¶m Mîå¶mÀ¶m q^Jm§Mo Zm^r¶ A§Va {H$Vr Agob?
1) 50 cm, A§Vd©H«$ 2) 50 cm, ~{hd©H«$ 3) 25 cm, A§Vd©H«$ 4) 25 cm, ~{hd©H«$

93) What focal length should the spectacles have for a person for whom the least distance of distinct

vision is 50 em ?

1) 50 cm, concave 2) 50 cm, convex 3) 25 cm, concave 4) 25 cm, convex

94) 10 Amoh‘Mm amoY 12 V À¶m {dÚwVKQ>mg OmoS>ë¶mg amoYmVyZ 1.1 A {dÚwVYmam dmhVo. {dÚwVKQ>mMm A§VJ©V amoY H$mT>m.
1) 10 Ω 2) 0.1 Ω 3) 10.9 Ω 4) 0.91 Ω

94) A resistor of 10 51 connected across a cell of emf 12 V, draws the current of 1.1 A. Find the

internal resistance of the cell.

1) 10 Ω 2) 0.1 Ω 3) 10.9 Ω 4) 0.91 Ω
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95) EH$‘oH$m§nmgyZ 1 {‘{b‘rQ>a A§Vamda Agbobr XmoZ g‘m§Va aoImÀN>rÐ nS>ÚmnmgyZ 1 ‘rQ>a A§Vamda R>odboë¶m AmhoV.
Ë¶m§À¶mda 500 Z°Zmo‘rQ>a Va§Jbm§~rMr ebmH$m gmoS>ë¶mZ§Va nS>Úmda ì¶{VH$aU n[aUm‘m‘wio V¶ma Pmboë¶m nº$s¨‘Yrb
A§Va {H$Vr?
1) 5.0 mm 2) 0.5 mm 3) 5.0 mm 4) 0.05 mm

95) Two parallel slits 1 millimetre apart are placed 1 metre away 6-om the screen. What is the fringe

separation due to interference effect, when a beam of wavelength 500 nanometres is incident on

them ?

1) 5.0 mm 2) 0.5 mm 3) 5.0 cm 4) 0.05 mm

96) EH$m dm’o$À¶m B§{OZbm 3.6 × 109 J/min XamZo CîUVm nwadbr OmVo. Ë¶mnmgyZ B§{OZ 5.4 × 108 J/min XamZo H$m¶©
H$aVo. Aem B§{OZMr H$m¶©j‘Vm {H$Vr Q> o̧$ Agob?
1) 15% 2) 12.5% 3) 85% 4) 87.5%

96) A steam engine delivers 5.4 × 109 J of work per minute by taking 3.6 × 109 J of heat from its

source. What is the efficiency of the engine ?

1) 15% 2) 12.5% 3) 85% 4) 87.5%

97) H$mhr PmS>m§‘Ü¶o Vm§ã¶mÀ¶m H$‘VaVo‘wio gmbrda ’$moS> d Imobda VwH$S>o nSy>Z Ë¶mVyZ qS>H$ ~mhoa ¶oVmo. Aem amoJmbm ......
åhUVmV.
1) E³Pm§{W‘ 2) nm§T>am S>moim 3) S>m¶~°H$ 4) noer‘¥V hmoUo

97) In some trees, copper deficiency may cause blisters and deep slits in the bark from which exudes

gum. This disease is known as

1) Exanthema 2) White bud 3) Dieback 4) Necrosis

98) gwH«$moOMo Eamo{~H$ Am°p³gS>oeZ hmoD$Z A{YH$V‘ {H$Vr ATP V¶ma hmoVmV?
1) 37 2) 44 3) 60 4) 50

98) The maximum yield of ATP from the complete oxidation of sucrose via aerobic respiration is

1) 37 2) 44 3) 60 4) 50

99) XmoZ Zmdo (~m¶Zmo{‘Ab) XoÊ¶mMr dJuH$aU nÕVr H$moUr gwM{dbr?
1) H°$amobg {bZm¶g 2) ~|W‘ Am{U hþH$a 3) {WAmo’«$mñQ>g 4) h{MZgZ

99) The binomial system of classification was given by

1) Carolus Linnaeus 2) Bentham and Hooker    3) Theophrastus 4) Hutchinson

100) ga Oo. gr. ~mog, ^maVr¶ d¡km{ZH$, ¶m§À¶mZwgma H$m°{Q>©H$b Wam§À¶m AmVrb Ord§V noer‘wio Ag|Q>, Am°’$ g°n ......
¶m {H«$¶o‘wio KS>Vo?
1) nbgoQ>ar {H«$¶m 2) Q´>mg{naoeZ nyb {gÕm§V   3) H$mohrOZ {gÕm§V 4) ‘yi Xm~ {gÕm§V

100) According to Sir J.C. Bose, an Indian scientist, ascent of sap takes place due to the ...... of living

cells of the innermost cortical layer.

1) pulsatory activity 2) transpiration pull theory

3) cohesion theory 4) root pressure theory
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1-2 2-3 3-4 4-3 5-3 6-1 7-2 8-2 9-3 10-2

11-1 12-3 13-4 14-4 15-4 16-4 17-3 18-4 19-2 20-4

21-3 22-4 23-3 24-1 25-2 26-4 27-1 28-4 29-2 30-1

31-3 32-3 33-3 34-1 35-4 36-2 37-4 38-1 39-1 40-1

41-3 42-3 43-1 44-2 45-1 46-3 47-3 48-3 49-4 50-4

51-1 52-3 53-3 54-3 55-2 56-3 57-1 58-3 59-3 60-2

61-1 62-4 63-2 64-1 65-4 66-3 67-2 68-1 69-3 70-3

71-3 72-4 73-4 74-3 75-4 76-3 77-4 78-4 79-1 80-3

81-* 82-1 83-4 84-4 85-4 86-4 87-4 88-2 89-1 90-4

91-2 92-4 93-2 94-4 95-2 96-1 97-1 98-3 99-1 100-1

CÎmao … amÁ¶godm nyd©narjm, 8 E{àb 2018

gyMZm … BQ>°{bH$ Ho$bobo àíZ Am¶moJmZo aÔ Ho$bo hmoVo.


